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Identify the choice that best completes the statement or ai

[
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Which of the following is an ionic bond? (3 %)

a. Floorine~Fluorine
b. Carbon-Hydrogen
c. Lithium-Oxygen

4 &

d. Carbon-Nitrogen

Which of the following cot
a. 7‘{"&8!\‘*

b, 2 *‘;}z,i‘wz;m:mm

c. 3-methylpentane

d. ?,,,}déms{hy bz;i&ne

npounds has only 1° and 3

on *éx} are equal in 5@‘3
. k ingle and {iaid fe bonds,
e, Some bonds are ix::sng,a v than others

oy

is m{: preferred stereochemistry af?he E2 elimination? (3 ¥

c. antiperiplanar

d. synperiplanar

e, gauche

“the following compound
pmi\)} (3 %)

d. sl are ethers

carbon atoms? (39

o)
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7. What is the [UPAC name of the following compound?

a. {&Z&«&&t%wif)é W-3-enoie
b, (Z)-4-ethylpent-3-enoic
¢ {(Ey4-methyihex-3-enoic ac
d. {Z)-4-methyihex-3-enolc acid
8. Whic

i‘: af? e f'o%&@w ug is the correct arder of decreasing acid strength (more acidic

c. C ,OUif i Hy,COOH
d. LO0H > FCHy COOH > C HRCH,0H

9. What is the major organic product obtained from the following reacti ion? (3 %)

Matching
Label each pair of sterecisomers below as: (3%
a.  enaniiomers
b, diastereomers
¢, identical

> less acidic)? (5 %)
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1. Draw the mechanism and p

it
atkene with agueous xm\% (3 %)

O e CHy +

H,C CH,

13, For each of the
P
normal, broadband decoupled VC NMR specira, (3

14, Provide the fn’. st
i‘&:levam stereoche

edict the two alcohol adk

compounds below, tell how many s

Jition products obitained by re

of the following reaction: {3 %)

on or sequences of

Classify the reaction below: (39
a.  addition

b, elimination

¢.  substitution

rearrangement

tion of the fo

the molec

reactions. S

following

ule to have inits




16. For each substituted ohexane, draw its ring-flip isomer, Circle the mosi stable conformation,

(3 %)

17. The following example of the n“;wﬂ;m wing group effect is provided by the acetylene-substituted
phenanthrene.  The indicated proton suffers a shift of 1.7 ppm compared to the corresponding
proton in phenanthrene itself.  Can you account for any observed differences? (10 %)

18. The compoubnd whose IR spectrum
amu and a ' H NMR with just three peaks
information, propose a structure, (15 ‘i"é;},

appears i

N

I}Eiziﬁvl

NEAT >

N i

s . LS. . Li . . .

A0 MG ANDG AR BRGS0 DAY 2000 RN A0 URDD a0 g jsEe i R
WEYENUHBERS

race s e e e

MICGLEY




= S Dy e s 82 i 5,
B frée b ¥ TRERLERT %

19, A useful benzyne precursor is benzenediazo

1 2-carboxylate, a molecule readily formed from
anthranilic acid.  Provide arrow formalisms for the formation of the following produ

cts A, B and C,

3

Write the mechanism for your predication, {15

Foe,
-

20. Radieal inhibitors are often added to foods to retard radical reactions causing speilage.  Fi
below shows a few typical radical inhibitors.  Should vou think a bit about how they n
function in intercepting radicals? {

s,
61}
o

Hydroquinone auT BHA






